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And is there no more?! — N2%% 1M

OVERVIEW

The Xn>>72 gives an example of "1 11 NXPP2 *NAWwIT, in a case where two people
dug a 72 and the last one completed it to depth of ten 2’now. The X3 then
presented some difficulty with this example and resolved it." Then X1 21 (and
others) asked, are there no other examples of P11 n¥pn2 *nNwaa. Our MdoIN will
discuss the reason X7°7 "1 requires other examples.

mooIn asks:
- 2951999 25WNY N9 93 TON NIV NIINT 333 7113 9NN ON)

And if you will say; granted even that there are many more examples of >naw>s
"21 P11 N¥pna, is then the Xin obligated to continue and count them all, as a

peddler is wont to do? One example of 1P11 n¥PPa w7 (by ™ "0 M3) is sufficient. Why is "
X7°T mentioning that there may be additional cases?!

ND0IN answers:

- “A505) X9 299 1N 2299 NYT 1950300 IDPINY DINTT DIV MY UM
And one can say; the reason we wish to mention additional cases is because it is
an awkward interpretation to establish our mw» not according to 29 or to

assume that we are discussing 7102 as KD 29 maintains. Either of these two options is

not easily acceptable, when -
= PP RPN 9192 1N

It was possible to establish the rule of 1211 n¥pna *nw>n by cases of damages (and
[even] according to °21 [and ¥™3%]) as the X3 attempts to point out.

mooin asks an additional question:
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And if you will say; let us establish the rule of 121 1711 N¥pn2 °*NWI7 in a situation

" If an animal was damaged in the pit then according to the 1321 only the last one is 2”11 (according to *27 both are
2m). If the animal was killed then everyone agrees that only the last one is 2>r.

* A peddler mentions all the wares he has to sell (and keeps repeating them).

? 937 maintains that both diggers are 21 by M2. We do not apply the rule of W1 ngpna *nwa by PP 1 of Ma. It is
difficult to accept that *27 who was 7701 the 1wn should argue on the f1wn. Alternately The X723 would prefer that
this rule of P11 N¥Pna *nw>i should be ¥"127 R2HX.

* The expression P11 93 w37 121 P11 nxpna *nwon, does not lend itself easily to n°» but rather to 1°p11 (as the X7m)
states later [on the 2"V] that >7»np X7 XP0p2).

> moon asks this question, because the s'X) attempt to establish other cases of 111 n¥pna "N w1 (by P11 and
according to everyone) failed..
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where, for instance, the pit did not have sufficient foul air that is capable of

killing, and it did not have sufficient foul air to cause damage. The ™2 in its present
situation could do no harm. This is the case where -
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The width (of the pit) was greater that its depth; and another person came and

plastered and painted the pit, thereby reducing its width (making it less than its

depth) and making it harmful; in which case 539 admits that the last person who
was 701 70, is liable -
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Whether the pit caused death or whether it caused damage as X2 29 states in

a7D7 P95, We can have a case by 712 which is discussing 7°2°11 and not (necessarily) 7n°» and it
is in agreement with *27.

N1B0IN answers:
:991 73¥ PINKT P NYPN AT PRT I U

And one can say; that this is not a case of Y11 nxpn *n7w>7 for the last one did

everything. Before the last one was 7721 7°0 there was no P*1a7 M3 since it was ¥ 201 12m)
Pny. It became a p 17 M2 only through the 731 70 of the 1NnX; therefore the 11nR did the
entire damage.

SUMMARY
The X713 is not satisfied with the example of "7 1°%wm nk X271 for either it is not
according to "27 or it is discussing 7n°2 and not °P11.

THINKING IT OVER

1. Is the question '®>*2 1Y, (only) on the Xn»12 (that the ¥n>>72 should have given
other examples) or is the question concerning our 71wn (as well); is the 71wn only
referring to this case of ™ v, or are there other cases as well?

2. moon explained that the question of X2°% 1M means that we would rather have an
example which is discussing P11 (instead of 7n°») and follow the view of °27 (or
¥"27 X2X). Seemingly the case of 121 X"12 ™ 17577 which the X713 suggests as an
example for P11 NXPRA NI is concerning 7N°A (not PP°11) and it is not R2HN

% This is following the view of 27 who maintains that the 21n of <12 is for the foul air — 12271 (only). In a case where
the width is greater than the depth there is no foul 2277; and the 1127 5v2 is "wd even for PP
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y"a7!
3. How can we explain that in the X*wp the assumption of M»d0IN was that 721 7°°0

is considered P11 N¥pnA *NWwn, however according to the y17°n it is considered 95
8
P!

7 See R"wmn.
8 See v> Mx 7"30.
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